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LHAEEZHN) BEMBEEEH(N) THEEEEEH(N) HRATREEH(N) BEFERHEN) B E E (%)
(A) (B) (C) (D)=(A)+(B)+(C)
8 z Hi 8 z H 8 z Hi 8 z H 8 = H 5 = &
25K | 26,534|27,853|54,387| 6,868 6,581|13,449 81 121 202| 4,619| 5,861(10,480|11,568(12,563|24,131| 43.60| 45.10| 44.37
o5 18 19 DIRFEHER
L AEEZH(A) BEMEEEH(N) TEEEEEH(N) HEAREER(AN) BEFELRHBN) B EE (%)
X4 (A) (B) (c) (D)=(A)+(B)+(C)
E2 z Hi 8 z H 8 z Hi 8 z Hi 8 z Hi 8 z H
187% 312 293 605 64 65 129 1 1 2 27 32 59 92 98 190| 29.49| 33.45| 31.40
197% 306 289 595 53 49 102 1 2 3 23 21 A 77 72 149| 25.16| 24.91| 25.04
At 618 582| 1,200 117 114 231 2 3 5 50 53 103 169 170 339 27.35| 29.21| 28.25
1BRDILEREICHET HE (FRI16FE4A2BMNLFERI6FESASHEFN) DIREHRR
ﬂ-%_ n’% ] =< ﬁ < < o
LA AR () BEMEEEH(N) THEEEEEH(N) HAEEEEEHR(AN) BEFEBRHBN) moE oE (o)
X5 (A) (B) (©) (D)=(A)+(B)+(C)
L z Hi 5 z H 8 z Hi 8 z &t 8 z &t 5 z H
187% 119 101 220 34 27 61 0 1 1 15 22 37 49 50 99| 41.18| 49.50| 45.00




